
68+1(5Ê 3/$1$5 $17(11$

%DFN WR LQGH[

%DFN WR PDLQ PHQX

�� +8%(5�68+1(5 � 3ODQDU DQWHQQDV

)25 :,5(/(66 &20081,&$7,21

63$ �������������&3

7HFKQLFDO 'DWD

(OHFWULFDO 3URSHUWLHV

)UHTXHQF\ UDQJH ���� � ���� 0+]

,PSHGDQFH �� W

96:5 ���

3RODUL]DWLRQ FLUFXODU� OHIW RU ULJKW

*DLQ ���� G%L

� G% EHDPZLGWK KRUL]RQWDO ���

� G% EHDPZLGWK YHUWLFDO ���

'RZQWLOW ��

)URQW WR EDFN UDWLR �� G%

$[LDO UDWLR ��� G%

0D[� SRZHU �� : �&:� DW �� �&

0HFKDQLFDO 3URSHUWLHV

'LPHQVLRQV ��� [ ��� [ �� PP
������§ [ ����§ [ ����§�

:HLJKW ��� NJ ����� OEV��

+RXVLQJ PDWHULDO $OXPLQLXP DQRGL]HG

5DGRPH PDWHULDO $6$

5DGRPH FRORU 5$/ ���� �OLJKW�JUH\�

2SHUDWLQJ WHPSHUDWXUH UDQJH � ��� & WR � ��� &

6WRUDJH WHPSHUDWXUH UDQJH � ��� & WR � ��� &

:LQGORDG �� 1 DW ���NP�K ����PSK�

$YDLODEOH 7\SHV

������������ �UKFS� 60$ IHPDOH

������������ �OKFS� 60$ IHPDOH

0RXQWLQJ +DUGZDUH

������������ GRZQWLOW EUDFNHW
0DVW DQG ZDOO PRXQWLQJ PDWHULDO �� PHWDO EDQGV� LQFOXGHG�
PDVW GLDPHWHU ����� PP �����§ � ����§�

KRUL]RQWDO

5DGLDWLRQ 3DWWHUQ

YHUWLFDO

���������������
���

���

���

��

��

��

�

����

����

����

�����

�����

���������������
���

���

���

��

��

��

�

����

����

����

�����

�����



68+1(5Ê 3/$1$5 $17(11$

%DFN WR LQGH[

%DFN WR PDLQ PHQX

��+8%(5�68+1(5 � 3ODQDU DQWHQQDV

',0(16,216 �PP�

63$ �������������&3


